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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer any two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Operations Management. Discuss its objectives 

and functions. 

lapkyu izca/ku dks ifjHkkf”kr dhft,A blds mís’;ksa vkSj 

dk;ks± ij ppkZ dhft,A 

2. Discuss the factors affecting plant layouts. Discuss 

various types of plant layouts. Also, discuss the 

comparative merits, demerits and applications of each 

type. 

la;a= vfHkU;kl dks izHkkfor djus okys dkjdksa ij ppkZ 

dhft,A fofHkUu izdkj ds la;a= vfHkU;klksa ij ppkZ dhft,A 

lkFk gh] izR;sd izdkj ds rqyukRed xq.k] nks”k rFkk 

vuqiz;ksxksa ij ppkZ dhft,A 

3. What do you mean by Inventory Management ? State 

the assumptions of basic model of inventory 

management. 

LdU/k izca/k ls vki D;k le>rs gSa \ LdU/k izca/k ds 

cqfu;knh izfreku dh ekU;rkvksa dks le>kb,A 

4. What is ‗Production Planning‘ ? Explain the 

importance of Production Planning. 

^mRiknu fu;kstu* D;k gS \ mRiknu fu;kstu ds egŸo dks 

le>kb,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer any four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Production and Operations Management. 

mRiknu rFkk lapkyu izca/kuA 

2. Types of Production Systems. 

mRiknu iz.kkfy;ksa ds izdkjA 

3. Objectives of Production Control. 

mRiknu fu;a=.k ds mís’;A 

4. Factors affecting locations. 

LFkku dks izHkkfor djus okys dkjdA 

5. Material Handling Principles. 

lkexzh lapkyu fl)kUrA 

6. Motion and Time Study. 

xfr ,oa le; v/;;uA 
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7. Acceptance Sampling. 

Lohd`fr izfrp;u 

8. Aggregate Planning. 

lEiw.kZ@la;qDr fu;kstuA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct answer-option. 

mŸkj ds fy, lgh fodYi dk pquko dhft,A 

1. Which one of the following production systems is the 

transformation by service type ? 

(a) Automobile industry 

(b) Hardware industry 

(c) Locker room 

(d) Metal forming 

fuEufyf[kr esa ls dkSu&lh ,d mRiknu iz.kkyh lsok izdkj 

ds }kjk ifjorZuh; gS \ 

¼v½ okgu m|ksx 
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¼c½ ;a=ksioLrq m|ksx 

¼l½ frtksjh d{k 

¼n½ /kkrq dk xBu 

2. Material flow is the most smooth in : 

(a) Job shops 

(b) Proejcts 

(c) Batch production 

(d) Mass production 

lkexzh izokg 
-------------

 esa lcls ljy gksrk gSA 

¼v½ dk;Z LFky 

¼c½ ifj;kstuk 

¼l½ oxZ mRikn 

¼n½ lewg mRikn 

3. Gravity model deals with : 

(a) Selection of human resource 

(b) Selection of facility location 

(c) Selection of machines 

(d) Selection of processes 

xq#Rokd”kZ.k izfr:i 
---------------

 ds lkFk dke djrk gSA 

¼v½ ekuo lalk/ku ds p;u 

¼c½ dk;Z LFky dk p;u 

¼l½ midj.k dk p;u 

¼n½ fØ;kvksa dk p;u 
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4. Which of the following motivates the employees ? 

(a) Job enlargement 

(b) Job enrichment 

(c) Job rotation 

(d) All of the above 

fuEufyf[kr esa ls D;k deZpkfj;ksa dks izsfjr djrk gS \ 

¼v½ dk;Z foLrkj.k 

¼c½ dk;Z lao/kZu 

¼l½ dk;Z orZu 

¼n½ mi;qZDRk lHkh 

5. Rating is used in : 

(a) Time Study 

(b) Method Study 

(c) Capacity Planning 

(d) None of the above 

ewY;kadu dk mi;ksx 
---------------

 esa gksrk gSA 

¼v½ le; v/;;u 

¼c½ iz.kkyh v/;;u 

¼l½ {kerk fu;kstu 

¼n½ mi;qZDr esa ls dkssbZ ugha 

6. Which of the following is not the technique of method 

study ? 

(a) Stopwatch method 

(b) Two hand process chart 

(c) Travel chart 

(d) Multiple activity chart 
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fuEufyf[kr esa ls dkSu&lk mŸkj fodYi i)fr v/;;u dh 

rduhd ugha gS \ 

¼v½ fojke ?kM+h@LVkWiokWp iz.kkyh 

¼c½ f} gfLr; izfØ;k js[kk&fp= 

¼l½ Hkze.k js[kk&fp= 

¼n½ fofHkUu fØ;k js[kk&fp= 

7. Henry Ford introduced the assembly line and the 

notion of mass production in which year ? 

(a) 1903 

(b) 1907 

(c) 1913 

(d) 1879 

gsujh QksMZ us la;kstu Øe vkSj cM+s iSekus ij mRiknu dh 

/kkj.kk fdl o”kZ esa is’k dh \ 

¼v½ 1903 

¼c½ 1907 

¼l½ 1913 

¼n½ 1879 

8. Routing refers to : 

(a) Sequence of operations 

(b) Flow of work in the plant 

(c) Layout 

(d) None of the above 

vuqekxZ.k 
----------------

 dks lanfHkZr djrk gSA 

¼v½ lapkyu ds vuqØe 
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¼c½ la;a= esa dke dk izokg 

¼l½ vfHkU;kl 

¼n½ mi;qZDr esa ls dksbZ ugha 

9. In the JIT system, there is no .......... 

(a) Lead time 

(b) Purchase order 

(c) Buffer stock 

(d) Purchase control 

ts- vkbZ- Vh- iz.kkyh esa D;k ugha gksrk gS \ 

¼v½ le;&lhek 

¼c½ Ø; vkns’k 

¼l½ lqjf{kr Hk.Mkj 

¼n½ Ø; fu;a=.k 

10. Which of the following is not a type of cost ? 

(a) Getup cost 

(b) Setup cost 

(c) Inventory carrying cost 

(d) Stock out cost 

fuEufyf[kr esa ls dkSu&lk fodYi ykxr dk ,d izdkj ugha 

gS \ 

¼v½ cká&lTtk ykxr 

¼c½ LFkkiu ykxr 

¼l½ Lda/k /kkfjr ykxr 

¼n½ Hk.Mkj lekfIr ykxr 
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